Practice Problems for Exam 1

DS 203


	1.
	As part of survey of college students a researcher is interested in the variable class standing.  She records a 1 if the student is a freshman, a 2 if the student is a sophomore, a 3 if the student is a junior, and a 4 if the student is a senior.  The variable class standing is 



	A)
	categorical. 

	B)
	numerical. 

	C)
	quantitatively categorical. 

	D)
	all of the above. 


	2.
	In order to rate TV shows, phone surveys are sometimes used. Such a survey might record several variables, some of which are listed below. Which of these variables are categorical? 



	A)
	The number of persons watching the show. 

	B)
	The ages of all persons watching the show. 

	C)
	The number of times the show has been watched in the last month. 

	D)
	The name of the show (if any) being watched. 


	3.
	When drawing a histogram, it is important to 



	A)
	have a separate class interval for each observation to get the most informative plot. 

	B)
	make sure the heights of the bars exceed the widths of the class intervals so that the bars are true rectangles. 

	C)
	label the vertical axis so the reader can determine the counts or percent in each class interval. 

	D)
	make certain the mean and median are contained in the same class interval, so that the correct type of skewness can be identified. 


	


Each of the following two histograms represents the distribution of acceptance rates (percent accepted) among 25 business schools in 1995.  The histograms use different class intervals, but are based on the same data.  In each class interval, the left endpoint is included but not the right.  
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	4.
	What percent of the schools have an acceptance rate of less than 20%? 



	A)
	3% 

	B)
	4% 

	C)
	12% 

	D)
	16% 


	5.
	Which interval contains fewer than half of all the observations? 



	A)
	20%  acceptance rate <35% 

	B)
	22.5%  acceptance rate < 37.5% 

	C)
	25%  acceptance rate < 40% 

	D)
	30%  acceptance rate < 45% 


	


For a Business Ethics course containing 10 students, the maximum point total for the quarter was 200.  The point totals for the 10 students are given in the stemplot below.  
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	6.
	This stemplot is most similar to 



	A)
	histogram with class intervals 110 < score < 120, 120 < score < 130, etc. 

	B)
	a time plot of the data with the observations taken in increasing order. 

	C)
	a boxplot of the data. 

	D)
	reporting the 5 point summary for the data, with the mean. 


	7.
	To which of the following data sets does this stemplot correspond? 



	A)
	All integers between 116 and 179. 

	B)
	1, 2, 3, 4, 6, 6, 7, 8, 8, 9. 

	C)
	16, 18, 21, 24, 28, 33, 37, 42, 46, 79. 

	D)
	116, 118, 121, 124, 128, 133, 137, 142, 146, 179. 

	


	


Consumers Union measured the gas mileage in miles per gallon of 38 1978–79 model automobiles on a special test track.  The pie chart below provides information about the country of manufacture of the model cars used by Consumers Union.
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	8.
	Based on this pie chart, we may conclude that 



	A)
	Japanese cars get significantly lower gas mileage than cars of other countries.  This is because their slice of the pie is at the bottom of the chart. 

	B)
	more than half of the cars in the study were from the U.S. 

	C)
	Swedish cars get gas mileages that are between those of Japanese and U.S. cars. 

	D)
	Mercedes Benz, Audi, Porsche, and BMW represent approximately a quarter of the cars tested. 


	9.
	Which of the following bar graphs is equivalent to the pie chart? 



	A)
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	B)
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	C)
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	D)
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Answer Key
	1.
	A

	2.
	D

	3.
	C

	4.
	D

	5.
	D

	6.
	A

	7.
	D

	8.
	B

	9.
	B
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